Potencias de 10 (H)

77 ~10?

84 +10°

34+ 10?

15+ 10?

88 +10°

44 =102

53 +10?

61 +10°

80+ 10?

57 +10?

Calcule los siguientes cocientes.

61 =+ 10?

10+ 10?

55+ 10?

99 = 10?

76 =102

18 =102

34+ 10?

53 +10?

8 = 102

88 —10?
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Potencias de 10 (H) Respuestas

77 +10?
0.77
84+ 102
0.84
34+ 102
0.34
15+10?
0.15
88 + 102
0.88
44 = 10?
0.44
53+ 102
0.53
61 <102
0.61
80+ 102
0.8
57 +10?
0.57

Calcule los siguientes cocientes.

61+10°
0.61
10+ 10?
0.1
55+ 10?
0.55
99 = 107
0.99
76 =+ 10?
0.76
18+ 107
0.18
34+ 10°
0.34
53107
0.53
8 =102
0.08
88 =102
0.88
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